
Conjuguer	un	verbe	au	passé	composé	de	l'indicatif

Fiche

•	Quel	que	soit	le	groupe	du	verbe,	le	passé	composé	se	forme	ainsi	:	avoir	ou	être	au	présent	+	participe	passé	du	verbe.

	La	plupart	des	verbes	se	conjuguent	avec	l'auxiliaire	avoir.	Exemple	:	j'ai	chanté,	tu	as	chanté,	il	a	chanté,…

	Quelques	verbes	se	conjuguent	avec	l'auxiliaire	être	(verbes	intransitifs	comme	aller,	venir,	arriver,	rester,	devenir…	).	Exemple	:

je	suis	parti,	tu	es	parti,	il	est	parti,…

•	Attention	à	l'accord	du	participe	passé.

	Employé	avec	être,	le	participe	passé	s'accorde	avec	le	sujet.	Exemple	:	Nous	sommes	partis	en	Italie,	puis,	l'année	suivante,	au

Portugal.

	Employé	avec	avoir,	le	participe	passé	s'accorde	avec	le	COD,	quand	celui-ci	est	placé	avant	le	verbe.	Exemple	:	Tous	les

voyages	que	nous	avons	faits	ensemble	m'ont	beaucoup	marqué.	(faits	s'accorde	avec	le	pronom	COD	que,	mis	pour	voyages)
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